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Sketching log functions/solving exponential equations




f(x) = logy (x)

f(x) = logy (x)
0<b<1




Sketch. State the domain and range in interval notation.
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Sketch. State the domain and range in interval notation.
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Sketch. State the domain and range in #aterzal notation.
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Sketch. State the domain and range in interval notation. D (,"3 y O(D
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Sketch. State the domain and range in interval notation.




Sketch. State the domain and range in interval notation.

f) y=log,,(x+3)
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Solving Exponential Equations (Type 1) - to solve, use the property
of equality to make the bases equal. (We will learn type 2 tomorrow)

Property of Equality for Exponential Equations

If a*=a” then x=y
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Solve.
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o) 3T-9v _ 3+

#5403

b G ) (X—l-/):' X=\

Yt ekt = X |
3x+= X—|

= =1
=¥/



